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INP
STA FIRST
INP
STA SECOND
LDA FIRST
SUB SECOND
ouT
HLT
FIRST DAT
SECOND DAT
79>
INPUT‘ OUTPUT
5 -2
7
s o haled (o5 50 1) sho b oas (T 515 00,5 2o )8 51 (sete sas 5 Sl
INP
ouT // Initialize output
LOOP BRZ QUIT // If the accumulator wvalue s 0, jump to the memory address labeled QUIT
SUB ONE // Label this memory address as LOOP, The instruction will then
// subtract the value stored at address ONE from the accumulator
ouT
BRA LOOP // Jump (unconditionally) to the memory address labeled LOOP
QUIT HLT // Label this memory address as QUIT
ONE DAT 1 // Store the value 1 in this memory address,

// and label it ONE (variable declaration)
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INP
STA
INP
STA
SUB
BRP
LDA
ouT
BRA
pos LDA
ouT

numl

num?2
numl
pos

numl

exit
num?2



w exit HLT
w numl DAT
v num2 DAT

INPUT | OUTPUT
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w counter
w number
¥ one

w ten

LDA
ADD
0ouT
STA
LDA
ADD
STA
LDA
SUB
BRP
HLT
DAT
DAT
DAT
DAT

number
counter

number
counter
one
counter
ten
counter
loop

1
0
1
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INPUT

OUTPUT

1
3
6
10
15
21
28
36
45
95
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v START

LDA
STA
STA
INP
BRZ
STA
LDA
MUL
STA
LDA
ADD
STA

ONE
RESULT
COUNT

END
VALUE
RESULT
VALUE
RESULT
COUNT
ONE
COUNT

// Initialize for multiple program Tun

// User provided input

// Branch to program END if input = 0
// Store input as VALUE

// Load the RESULT

// multiply VALUE by RESULT,

// Store the new RESULT

// Load the COUNT

// Add ONE to the COUNT

// Store the new COUNT



Yy

A\l

Y

Yo

Ys$

oeile ol Jodllyginss YN 10

BRA LOOP
ENDLOOP LDA RESULT

0uT

BRA START
END HLT
RESULT DAT
COUNT  DAT
TIMES  DAT 3
ONE DAT 1
VALUE  DAT
ZERO DAT

SUB TIMES
BRZ ENDLOOP

// Subtract COUNT from TIMES
// If zero (VALUE has been multiply to RESULT by 3 times),
// branch to ENDLOOP
// Branch to LOOP to continue multiplying VALUE to RESULT

// Load RESULT
// Output RESULT
// Branch to the START to intitialize and get another input VALUE
// HALT - a zero was entered so done!

// Computed result (defaults to 0)
// Counter (defaults to 0)
// limits

// Constant, value of 1

// User provided input, the value to be squared (defaults to 0)
// Constant, value of 0 (defaults to 0)
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